XFT ANSLEY CABLE DELAY VERIFICATION				9/17/97 SH





INTRODUCTION:�The following diagram is the setup that will be used to test the delay of the ANSLEY cables used for the XFT system at CDF. The cables are presently located in the rafters of a warehouse. The test can be performed at the warehouse. The cables can remain and should be coiled up as shown in the diagram. The length will be determined by inputting a fast rise time pulse(<1ns)  into one end of the cable and then measuring the time difference between the two channels of the scope. The scope’s two inputs are connected to each end of the cable under test. The far end of the cable will be terminated with a 100 ohm resistor to the cable ground. The delta T function on the scope will be used along with the ch2 delay option to make a precise measurement. The delay along with the cable number will be recorded in a log book.  





SETUP:


The input and output connectors are supplied and will connect the appropriate pins to the pulse generator and scope . The output of the pulse generator will be a 500ns pulse with a period of 50us and amplitude of 2v. 


The oscilloscope will have the following settings:


Ch1 - 1v/div, Ch2 - 500mv/div,  Time - .5us/div, (x10 mag button pushed in and 50ns/div shown on display), Trig - ch1, norm, dc, +,  delta T time measuring function on.  





MEASURING PROCEDURE:


With the ‘cable under test’ connected to the instruments you should see the rising edge of the input and output waveforms. The delta T should be about 310ns. This is a quick test to see if the system is set up correctly.


To accurately determine the cable delay, pull the time/div knob out and rotate the outer knob one click clockwise so that the scale is 20ns/div for the superimposed waveforms and 500ns for the original waveforms. Adjust both channel’s horizontal level so that they are on the same  reference scale one division from the bottom of the display. Adjust the small delta ref knob above the time/div knob so that ch1’s rising edge is seen and aligned with a vertical grid line. Adjust the small delta knob above the time/div knob so that the rising edge of ch2’s signal is vertically aligned with ch1’s rising edge. Ch2’s signal should align with ch1’s when ch2’s signal is at 500mv. The delta T shown on the display is the cable delay . This value should be recorded along with the cable number. It is important that the amplitude of the input signal remain constant for all cables tested, the amplitude of the signal can be verified with the scope to within 100mv by disconnecting the ‘cable under test’ and viewing the input signal with the scope. 





Questions - Contact Scott Holm x4340
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